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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

T TS H U (50) - foahed T U9 €1 T U 6 g (2) 3k €| |l IRl o S|

ST |
1.  Discussion Method can be used when :
(A) The topic is very difficult (B) The topic is easy
(C) The topic is difficult (D) All the above

2. Which of the following is a teaching aid ?
(A) Working Model of Wind Mill (B) Tape Recorder

(C©) 16 mm Film Projector (D) All the above

3.  The main aim of teaching is :
(A) To develop only reasoning (B) To develop only thinking
(C) Both (A) and (B) (D) To give information

1. foem-fomst fafy & swim fean s wewa € sefe :
(A) U Igd Hicd B (B) TRV TRA B |
(C) Weh0T hicd 7| (D) SWI® gt |

2. T4 9 S fao-veees 9l §72
(A) 7 e o1 wriwr gfaam (B) <9 femrex
(C) 16 TH TH fthed HisieRt (D) SWw g+t

3. TmmesgarRwms:

(A) had qeh ufd 1 forepm (B) hadt fa= =1 faam
(C) (A) &R (B) T (D) =S
WXYZ -00 3 P.T.O.



4.  The quality of teaching is reflected :

(A) By the attendance of students in the class

(B) By the pass percentage of students

(C) By the quality of questions asked by students

(D) By the duration of silence maintained in the class
5.  The present annual examination system :

(A) promotes rote learning

(B) does not promote good study habits
(C) does not encourage students to be regular in class
(D) All the above
6. A college wants to give training in use of Statistical Package for Social Sciences (SPSS)
to researchers. For this the college should organise :
(A) Conference (B) Seminar
(C) Workshop (D) Lecture

7. Which of the following is NOT the characteristic of a research ?
(A) Research is systematic (B) Research is not a process

(C) Research is problem oriented (D) Research is not passive

8.  Which of the following statement is correct ?

(A) Discoveries are researches

(B) Researches lead to discovery
(C) Invention and Research are related
(D) None of the above

9.  Which of the following statement is correct ?

(A) In research, objectives can be worded in question form

(B) In research, objectives can be worded in statement form
(C) Objectives are to be stated in Chapter I of the Thesis
(D) All the above

WXYZ —-00 4



oreror =t e wef¥id Bt ©
(A) e | BT Sufeafd |
(B) BT ot Il gfaerd |

(C) BTl < g I T YT i T[uran 9

(D) e | wifd S T i 3Tafy 9

A ik T gomet

(A) Tea famn #1 e sar §

(B) 3T=3 UG i 3TGd ohl UIcHI(ed el Ldl §

(C) BTl &l e # frafid o & faw dieanfea &1 s
(D) 3IHH G+t

T HRIfoerd 3T9= Sienfefai o6t i foami & foau wiersa Yo & yam-fafy o
gfSrferd e =Tedl €1 39 foTT ST STEfSIa e =ey

(A) HHAA (B) HEt

(C) hreme (D) WFR
frefafed # & i oy o o T § 2

(A) Y Hafeed gt g1 (B) e ufpan et ¥
(C) i |HEAT Wb Bt T (D) iy fafsspar =1t et
frefafad § & w9 o1 weF & T2

(A) SR SFIHIH T T |

(B) STIEYM STMfa=hr Tt B T |

(C) onfo=pR IR STTHM Helferd g ¥ |
(D) STI® #¥ HIE T |

frfafea § @ e weA 98§ 2

(A) Iy # YA B IAIHR H HE S 2

(B) I H ST T FUAIHR H Hal oIl 7 |

(C) SRYE! I NI F YW T | el S |
(D) IHH |t

WXYZ—-00 5 P.T.O.



10. Match List A with List B and choose the correct answer from the code given below :
List A List B

(a) Historical Method (i) Past events
(b) Survey Method (i) Vision
(¢) Philosophical Method (iii) Present events
(d) Experimental Method (iv) Exceptional cases
(v)  Future action
Code :
@ (b (©) (d)
(a) @O @) () v)
B @ i v O
© ® G @ v)
D) @ i @) (W)

Read the following passage and answer the question numbers 11 to 15.

Each day at the Shantiniketan School starts with the Saraswati Vandana. When
painting competitions are held in the school, images of Hindu gods and goddesses are
most common. Sanskrit is a favourite subject of many a student. Nothing new about it
except that the 1,200 - odd students studying in the Hindu - run school are Muslims.

In 1983, when Ranchodbhai Kiri started Shantiniketan in the all - Muslim Juhapura
area of Ahmedabad in Gujarat, only 20 percent of the students were Muslims. But
when riots involving the Muslims of Juhapura and the Hindus of nearby Jivrajpark -
Vejalpur affected the locality, Hindus started migrating. Today, all the students are
Muslims and the school is an unparalled example of harmony. In the 2002, when a

section of inflamed Muslims wanted the school closed, the parents of the students stood
like a wall behind it.

Shantiniketan’s principal says, “We never thought of moving the school out of
the area because of the love and affection of the local Muslims. Indeed they value the
high standard of education which we have set.” Such is the reputation of the school
that some of the local Muslim strongmen accused of involvement in communal riots
are willing to protect the school during the riots.

The parents of Shantiniketan’s students believe that it’s the best school when it
comes to the quality of the teaching. A large number of students have gone for both
graduation and post graduation studies. Significantly, the only Muslim teacher in the
40 - member teaching staff, Husena Mansuri, teaches Sanskrit. Infact, she is so happy
at the school that she recently declined the principalship of another Muslim - run school.

Some of the students’ entries in a recent school painting competition mere truly
moving. One drew a pciture of Bharat Mata with a mosque and temple, while another
portrayed a boy tying rakhi to his sister. Trully, Shantiniketan is a beacon of hope that,
despite the provocations from both communities, Hindus and Muslims can live
side-by-side with mutual respect.

WXYZ—-00 6



10. T A & G B | HfAd Hifee AR = fag U e 9 @ S| g

et A gt B
(a) Tfcrerfaes fafy () o e T
(b) Hagu fafy i) TEME
(c) Trifes fafy (iii) T T
(d) v fafy (iv) TR fearfaat
(

v) wfosT & wRER

(b) (©)
i) (i)
(i)

(

v

(
(B)
(©
(D)

Z

1v

A/?/-\/'\

~"

\%

11

o

(iv)
(ii
(i) (i)

(iv

~—

FrAfafaa =9 i ufeu e 11 | 15 T o Y9 & 3T ST :

IS wifd Fped wpa A o=l TReadt g % Wy gE ot ¥ 59 whel H
Fasrerrt it ST STt i St ® o Herd v fég et Saaedt % @ fot s W ¥
FE BT 1 THSIET favg Ghd €, df 398 @Y o1d 1 ¥ 2 IS W o1 el © e g9k
fegall N1 =T S ¥ 39 T&hel & e 1,200 foremeff qoemm 2

ST 1983 H WBSISHE fhll 7 TSR H STeHEE o Rerd ogel Jaq soieh H whifd
Frohae 0% e o a1 399 ket 20 WIEE! SE & GHAHH 91 Afehd JEq0 AR wie &
STesTaTeh— SSTTqX o f&=gatt o ot S71 BIH < oi1s a8l 9 Tewgatl o1 Jated e 81 T o1
A % AR B GHAHH ¢ AR I% el 1 TS fierel 59 T ¥ 1 2002 % 0 H F AR
THEHM 39 9% AT 91_d &, Tk S o ATIHER IToh (GATE SR TR TS & T |
viifd e &% THHER #Ed €, “8H T Ol & @R R EE & 9o What 6l et
off 59 Tk ¥ SR & 9T % IR § LT WA | gehiehd dl 9% € foh o frem % 39 W 1 wed
e A R T | o0 wpa ot ofd T ot § fon wreitaes <t | ifies o T
T qEem o S o SR 39 a9 § 9 3T A

vifq fehae & forneffi & sfiemaent @1 e ¥ % wla fan & 7w § @8
Tolh H Hay afgan 1 wifd Fehad o 9gd IR S=di A TA1deh AR SRR i et S1fsia bt
¥ | ISR 91 9% € T 40 Tl et <ot § e U € GUeEE § - g9 HYd, S U
et €1 Y 39 Whel ¥ 39 heX WP ¢ R SR gl § qHOHH! R Jel SRS T TRl
. YUFEE o1 1 Y6 gl fean | gia | Wt | Ui st gfaenfial § e 7 s o
ot UfET areRg fadik e areft €1 T 3 Aft 3R Afesie & 91 YRd Al i a&&iR 9411, o
T A T HHAHM S i 9 &g 987 ¥ Tt syad gu femmn | wifa fehad emem &t
T foror § o ST TRl & OR IHEE % s fig-THeH TRER T % e U gEH
o 1Y T Hehdl & |
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11. How the Shantiniketan school starts the day ?
(A) National anthem (B) Prayer
(C) Saraswati Vandana (D) Puja

12. Write the subject which is preferred by most of the students
(A) Hindi (B) English
(C) Sanskrit (D) Gujarati

13.  Who protects the school during the riot times ?
(A) Local Muslims (B) Hindus
(C) Politicians (D) Christians

14. Who is the teacher of Sanskrit ?
(A) Ranchodbhai Kiri (B) Manisha Vakil
(C) Husena Mansuri (D) Husena Khatoon

15. What is the hope despite the communal riots ?

(A) Hindus and Muslims cannot live side by side

(B) Hindus and Muslims can live side by side
(C) Only Hindus can live
(D) Only Muslims can live

16. Match List I with List II and choose the correct answer using the codes given below :

List I List II

(Distinguished Ladies) (Area of work)
(@) Jhumpa Lahiri (i)  Journalist
(b) Barkha Dutt (i) Novel Writing
() Aparna Sen (iii) Film Actress
(d) Smita Patil (iv) Film Director
Code

@ ©® © @
A @) @ @0
® @ 0 G ()
© @ O @ @
O @ @ w6

WXYZ—-00 8



11.

12.

13.

14.

15.

16.

viifa frehae Tpe T ) YoeTd e il § 2

(A) TTHF (B) Wi d
(C) &t a1 ¥ (D) Y9
39 foror o1 9 oy, T8 etfienae fammeff ude = © :
(A) fe=<it (B)  3iUSit
(C) w&pd (D) TSR
S % I Thel I TR = ?

(A) I qEAHET A (B) fegaiiA
(C)  TsTfert o (D) sEmEEl A
H&hd 1 EATH I § 2

(A) TsewE fl (B) WIS Fehict
(©) TEm R (D) EET T

GryRTTes ST o STas[E ST o foRvor @ €72
(A) &g IR qoevm wy-are 78 ® Hehd
(B) o R TUTHM WY-WY T Tehd §
(C) ad feg WHHd §

(D) I HATH & bl ©

T 1 (fafere afgemd) < 9=t 1 (FrEds) & gafad wife o = fou e 9 & sw g

g1 T 11
(fafers wfgemd) (T &)
(a) gurated (i) RN
(b) wX@I<Td (i) SYAHEDRR
(c) 39Ul ¥ (iti) FEAHT FHATRR
(d) forar wifea (iv) o fdees
%<
(a) (b) (©) (d)
(A)  (v) (i) (i) (i)
B) (i) (i) (iv) (iif)
©  (v) (i) (iif) (ii)
(D) (i) (iii) (iv) (i)

WXYZ—-00 9
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17. Which of the following pair is not correctly matched ?
(A) Aajtaak - 24 hours news channel (B) E.M. Stations - Radio
(C) National Geography channel - Television (D) Vir Sanghvi - India Today

18. Which is the oldest soap opera telecasted in India ?
(A) Kahani Ghar Ghar Ke (B) Buniad
(C) Humlog (D) Saas bhi Kabhi Bahu Thee

19. Which satellite channel uses the adline, “Knowing is everything” ?
(A) BBC World (B) Star
(C) Sony (D) Zee

20. Which is the “First made in India” Kids channel of television ?
(A) Cartoon Network (B) Walt Disney
(C) United Home Entertainment’s Hungama TV (D) Nick Jr.

21. The letters in the first set have certain relationships. On the basis of the relationship
which is the right choice for the second set ?

BF:GK::LP:?
(A) JK (B) Qw
(C) VW (D) RQ

22. If the BLOOD is coded as 24113 and BRUST as 20678, then code for ROBUST is :
(A) 620781 (B) 612078
(C) 678102 (D) 610732

23. A bag contains an equal number of one rupee, 50 paise and 25 paise coins. If the total
amount in the bag is Rs. 35, how many coins of each type are there ?

(A) 15 (B) 18
(C) 20 (D) 25

24. In the sequence of numbers

2 4,116
3" 7" 77 21" 31
the missing number X is :
8 6
A) — B —
5 7
O — D) —
© 10 (D) 10
WXYZ-00 10



17. frefafed & @ w0 @ g gafaq 7= 82
(A) TSI - 24 He T el THER <
(B) W& UH. ¥ - e
(C) +vHa fsmmnfres = e - fafasm
(D) R fouet - sfea 22
18. RA H Clfoas o1 Tord YRAT W9 TR shiver § 2
(A) T B ER Y (B) AR
(C) =wAAm (D) 99 At Heft &g off
19. HITET YIS S 30 FIR-A 1 WA Ll §, “SH1 & 96 3 77 2
(A) SR S ©l aes (B) ®R
(C) =t (D) S
20. ColifasH W “HageH YR § SHET T S 1 A i 72
(A) A HeTh (B) aree fest
(C) FEfee B TueReTHe o1 & el (D) T SR
21. TS SH=AF % S1aR} § U faftie Hey ¥ 3H HEY % SMUR W T 9= & fau @
forehea i @1 72
BF:GK:LP:?
(A) JK (B) QW
© VW (D) RQ
22, AfE BLOOD %I %< 824113, 3R BRUST &I &< & 20678, A ROBUST & &< T :
(A) 620781 (B) 612078
(C) 678102 (D) 610732
23. TH It H Uk w99, 50 T iR 25 99 F et ot G swer €1 At Ieft # Fa 35 T
T @ 9% YRR F fom i Gem @ 2
(A) 15 (B) 18
(C) 20 (D) 25
2 4 11 16
# 3w m
3k e § 8 FH X ¥ :
8 6
A) 75 ® 3
5 7
© - @) 3
WXYZ —00 11 P.T.O.



25. If A stands for 5, B for 6, C for 7, D for 8, and so on, what do the following numbers

stand for :

22,25,8,22 and 5°?

(A) PRIYA (B) NEEMA
(C©) MEENA (D) RUDRA

26. Which of the following statements are always true ?
(a) A wooden table is a table
(b) Now, it is raining or not raining
(c) The sun rises in the East every day
(d) A chicken comes out of a hen’s egg

Choose the correct answer from the code given below :

Code :
(A) (a) and (o) (B) (), (c) and (d)
(C) (a) and (b) (D)  (b) and (c)

27.  Which of the following statements are mutually inconsistent ?
(a) Mostly poets are not egoistic
(b) Mostly poets are humble
(c) Some poets are egoistic
(d) Some poets are not non - egoistic

Choose the correct answer from the code given below :

Code :
(A) (a) and (d) (B) (b) and (¢)
(©) (a) and (o) (D) (c) and (d)

28.  Which of the following statements is/are absolutely impossible ?
(a) A woman giving birth to her own grandchild
(b) A man attending his own funeral
(c)  The Sun not rising in the East some day
(d) Cars running without petrol

Choose the correct answer from the code given below :

Code :
(A) (a) and (b) (B) (c) and (d)
(S (b (D) (a)

WXYZ —-00 12



25. ARAFHEA5T, BH YA 6 8, C HI TA 7 T, D & Ged 8 T, IS o F=fafaa sfant
22,25,8,22 3R 5 H YA T :

(A) PRIYA (B) NEEMA
(C) MEENA (D) RUDRA

26. frfafed § § #F ¥ %A 9¢d 9 89 €2
(a) THS! H HS TH U SO0 B |
(b) TH GEI AT AW S @Y A AW T A R
() 93 9ca yd foen 9 3fed gran 71
(d) IS1 T % AU | fRerar ¥
foreiferfion %2 @ T8 O R ;

@‘:
(A) (a) 3R (0) (B) (a), () ¥R (d)
(C) (a) &R (b) (D) (b) ¥R (0)

27. fr=fafed & 9 FA9 weA wER faedt €2
(a) IUH®R Hfd STERR T 2d 2|
(b) frepdR wfa foag & F
() TS Hid FEHRN T 2 |
d) F© FHfaR-sEHR 7 B T
freferfed %2 9 T 3w AT -

%<

(A) (a) ¥ (d) (B) (b) ¥R ()

(© (a) ¥R (o) (D) (c) ¥R (d)
28. fr=fafaa # @ & QA FoF qouia: g &2

(a) Toel Sft g0 3T 9Id Rl S o

(b) el o= g0 oTot eTaifE § Juferd S|

(c) Tt o7 g =1 q& @ 3fcd 7 2

(d) R 289 o T =@

frfafed Fe 9 w8 3w 9T

%<

(A) (a) ¥ (b) B) () ¥R (d)

© (b (D) (a)

WXYZ—-00 13 P.T.O.



29. Which of the following are incorrect ways of arguing ?
(a) If horses are cows, and if cows are sheep, then all horses must be sheep.

(b) If top actors are famous, and Shah Rukh Khan is famous, then Shah Rukh Khan
is a top actor

(c) Lata is the second sister of Raju, hence Raju is the second brother of Lata
(d) A isnot equal to B, but B is equal to C, hence A is equal to C.

Choose the correct answer from the code given below :

Code :
(A) (a), (b) and (c) (B) (a) (¢) and (d)
(©)  (b), () and (d) (D) (a), (b) and (d)

30. Which of the following statements say the same thing ?
(@) “I am clever” (said by Rama)
(b) “I am clever” (said by Raju)
() “My son is clever” (said by Rama’s father)
(d) “My brother is clever” (said by Rama’s sister)
(e)  “My brother is clever” (said by Rama’s only sister)
(f)  “My sole enemy is clever” (said by Rama’s only enemy)

Choose the correct answer from the code given below :

Code :
(A) (@) (), (d), (e) and (f) (B) (a) and (b)
(C) (d) and (e) (D) (a) and (f)

Study the following graph and answer Question Numbers 31 to 33 :

| [IDew-drop [JCool-sip [l Pep-up |

(O8]
6) ]
1
T

30 30

35
30 30
25 25 25 | [25 25
= |—‘@I 20 20
15 15
10
I’ 7

N W
g O
1 1
T T

In lakh bottles
— N
Q1 ©

10 A
5 -
0 1988 1989 1990 1991 1992 1993
YEAR
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29. fr=fafed & ¥ w99 9% & o &1 §2
(@) afe g M €, ofX afg md 9 ¥, @1 wf =g A4S T
(b) afe Soaw Afvma ufs ¥, ok reew @m ufag B, df veeE @H I ST 2
(c) T TS il GHY 9 &, 3T TS| AT ol T TS S |
(d) A, BF M T T, fhg B, C % UM T, 7: A, C % THM |
foreiferfion %2 @ Td O R ;

%<
(A) (a), (b) ¥R (c) (B) (a), (c) 3R (d)
(C)  (b), (c) IR (d) (D) (a), (b) &R (d)

30. fr=Afafed & 9 99 %o T & 91 Fed § 2

a) “HARY (I9 FR e T40) |

b) “H AT (TS FN H M) |

¢) “HIHA TR T (TH % T g e )

d) “B 9 TR T (T9 I A gRI el )

e) I W IR’ (TH I Shalldl og §RI hal )

f) “T gHA AT TG & (TH % FHaANd W17 BRI T T40)

@‘:
(A) (@), (@), (d), (e) &R (f) (B) (a) &R (b)
(C) (d) 3R () (D) (a) ¥R (f)

T 3T T AeET ST Ta U9 G 31 | 33 T o ST itaig |

40 4 |[Ofes-gm Owa-faov  ElY-om |

30 30

35 1 35
ar 304 30 30 30
o5 1 25 25 25 | |25 25
E 20 4 S 20 20 20
15 4 15 15
g
0

1988 1989 1990 1991 1992 1993
Y
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31.

32.

33.

In which year was the sale of ‘Pep - up’ the maximum ?
(A) 1990 (B) 1992
(C) 1993 (D) None of the above

In the case of which soft drink was the average annual sale maximum during the
period 1988 - 1993.

(A) Pep - up only (B) Cool - sip only
(C) Cool - sip and Dew - drop (D) Pep - up and Dew - drop

What was the approximate percent drop in the sale of Pep - up in 1990 over its sale in
1989 ?

(A) 5 (B) 12
(C) 14 (D) 20

FOR BLIND STUDENTS (Q. No. 31 to 33)

Read the following paragraph and answer question numbers 31 to 33 :

It is logical to predict victory for Australia in its approaching series in India.
Statistically Ricky Pointing’s side is a clear 20 point leader in the ICC Test championship
table and 25 points ahead of Sourav Ganguly’s fourth place combo ? History, however,
does not always observe the laws of logic, and the fact that 35 years have elapsed since
Bill Lawry’s team achieved Australia’s unique series win in India, suggests that this
year the odds are not all stacked in Australia’s favour.

More recent statistics support this viewpoint. Ganguly’s men won the 2000-01
rubber on the subcontinent 2 - 1, they then defied their abysmal record in matches
abroad by sharing the honours of the 2003-04 rubber in Australia.

In early 2004, they repeated their successes against traditional rivals, Pakistan,
with Sehwag scoring 309 runs at Multan where he and Tendulkar compiled a joint
335. In Rawalpindi, Dravid’s 270 set the seal on an innings victory and a 2 - 1 triumph
in a series which broke the perennial deadlock between the two nations.

31. Which subject does not observe the Laws of Logic ?
(A) Philosophy (B) Biochemistry
(C) English (D) History
32. Indian team got success in early 2004 against their traditional rival :
(A) Pakistan (B) Australia
(C©) England (D) Bangladesh
33. In which place of Pakistan Sehwag scored 309 runs ?
(A) Kolkatta (B) Rawalpindi
(C) Multan (D) Mumbai
WXYZ—-00 16



31.

32.

33.

fora od o “Uu-279 =+ fosht Taiferes o ?

(A) 1990 (B) 1992

(C) 1993 (D) SWI® HIE &

< TR sTafy (1988 - 1993)H fohw wie féa i sitaa anftier fasht waffiew oft ?
(A) hadl U9- 31 (B) hadl ehid-Tay

(C) hia-Toq wd fea-gm (D) Y9-379 TH fea-gm
1989 ! A | 1990 i Y9-379 i fot & T T wfaem ot fiRmee o1E 2
(A) 5 (B) 12

© 14 (D) 20

hael gIYEH BTl o falq (U9 . 31 9 33)

Frfafea 3= okl ufed 3 U9 . 31 ¥ 33 Teh oh ST GiT |

31.

ST & ST YRA SR H AR feran =it STd oh! wfers St e difehen © | STiehet
% vere X fiht difen ot Jm one. W, =i, T Sfagafen w get § 20 76 W R Y e
R TS WRA e & T F 25 3k M T W A W, siaer goen difcher et w =&
Fedr | dea I8 € o foaa it & Agc # emeferan 3 i wRd W Sid <t R gU 35 9 &
T 1 qea T2 el © 5 30 9 gorel T @ 9 smefern % v # %hag T

TS TSN 3Tk ot 39 T9IRT i YfE T €1 TH[E & SiFd A 39 G § 2000-01 I
T 2-1 9 S o 39k o1 faeeil exdt W 39+ We US¥H & e &l =1 s gu
Tfer™n | 2003-04 &t RS sE W BIE

2004 F YA Tl § IR FHAET H SR HH 97 YU Gfcgal qihEd &
T oft S @ | FeanT 3 Head < H 309 T a1 37 dgert o T 335 T ol HERRT
HT | TIAGE | gIfae o 270 Wi A Tk IR | SiHd ki e W@d g, 3§ HRS H 2-1 9 Sfia
1 AW YETEd R e, e < <9 o e o™ 9 e Tl i drer o |

ST fow Tk o AT T AT & L ?

(A) <R (B) @l himedt
(C) TS (D) sfae™
32. 2004 % Y& H IRAF A9 T T WA Gfaggt W oo o
(A) TIfRE (B) aEfern
(C) T (D) ST
33. TIfh&™ o fohd T T F@aF 7 309 T AN :
(A) IRl (B) UaAfguet
(C) HeH (D) i
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34. The “Report on Currency and Finance” for each of the financial year in India is published

by :
(A) Reserve Bank of India (B) Ministry of Finance
(C) Planning Commission (D) Central Statistical Organisation

35. The number of students in two classes A and B and the respective “mean” of the marks
obtained by each of the class are given in the following table :

Class A Class B
Number of Students 20 80
Arithmatic Mean 10 20
The combined “mean” of the marks of the two classes will be :
(A) 18 (B) 15
(©) 10 (D) 20

36. ICT stands for :
(A) International Communication Technology
B) Intera Common Terminology
) Information and Communication Technology
D) Inter connected Terminals

37. Which of the following statement is NOT correct ?
(A) Computer is capable of processing only digital signal
(B) Computer is capable of analysing both quantitative and qualitative data
(C) Appropriate software is required for processing the data
(D) Computer is capable of processing digital as well as analog signals

38.  Which of the following is the appropriate definition of Information Technology ?

(A) Information Technology refers to the use of hardware and software for processing
information

(B) Information Technology refers to the use of hardware and software for distribution
of useful information

(C) Information Technology refers to the use of hardware and software for storage,
retrieval, processing and distributing information of many kinds.

(D) Information Technology refers to the use of principles of Physical sciences and
Social sciences for processing of information of many kinds.

39. Which of the following statement is correct ?
(A) Virus improves the speed of processing information through computer
(B) Internet does not allow the virus to spread
(C) Virus is a part of software
(D) Virus is an operating system

WXYZ—-00 18



34.

35.

36.

37.

38.

39.

IRA &% FA forca-ad # “Rure o1 gt iR wEw” Yoo i & :
(A) Tt s At e B) form wamera
(C) ATSHT TR (D) ¥Hea Rfetena ATHESIH

Trafafaa aifton § < wansli A 3 B & faenffai =) e R g wen gr sifsiq i
fegm g

wHeT A B
BT & & 20 80
RO Sfid 10 20
ST e & Tl it T Sid €

(A) 18 (B) 15
(C) 10 (D) 20

. Y. . Trefed e €

(A) TECEIHA FRRIA SHTATS
(B) = HIHA AT

(C) THTIE TS HRYMKYH TeHTairsit
(D) 3= FHichee JHTeH

=1 5 | 9 91 e w9 T 72

(A) FX e fama &1 duila & # 99¢f 2

(B) T HEAHS Td Ul ST o1 fargeromr e # woef )
(C) SIehit Sl HEG T o fAT SUgH HITa &l & 2 |
(D) HR Eifea Td s frme &1 Said e | 999 7

frefafad & @ go Frenfrent & Swgw i o @ 72

(A) o T IR A & AT ST H A T STSaRR 3R AReER i el Weifieht
FEd B

(B) TR Y1 o Tl o feTT Iu2inT § 1T T4 BrEaR TR HTeeraR i T YreifiTent
FEA T

(C) o= YehR T F=AT 1 TR, YA WIH, Henfia 7R faawor & fore 3uein § e 13 gream
3R AR T AT Wt wed T |

(D) ¥ YR &t I 01 Hefd s & fae siifaes fomm wd wmifse foam & fagra &
YA T AT UrfTRT hed ¥ |

=1 @ i | e T 7?2

(A) AETH FHTRR F §N Y1 % HER T 717 T ¢l T 2|
(B) T=Uie a1Ed &I e & <l §

(C) dTERH FIedaR 1 feedn ¥

(D) oTeXd T 3Mufen fawen ¥
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40. Which of the following is correct statement ?
(A) Computers can be used for diagnosing the difficulty of a student in learning a
subject
(B) Psychological testing can be done with the help of computer provided a software
is available
(C) A set of instructions is called a programme
(D) All the above
41. Global warning during winter becomes more pronounced at the :
(A) Equator (B) Poles
(C) Tropic of Cancer (D) Tropic of Capricorn
42. In the study of man - environment interaction, the statement of Miss Semple that
“the humans are solely the product of their environment”, is :
(A) An opinion (B) A prejudice
(C) A fact (D) A widely accepted phenomenon
43. In analysis of man - environment relationship Pragmatic Possibilism implies that :
(A) There is no limit for man to exploit resources of earth
(B) There are limited possibilities to explore earth’s resources
(C) The man has to watch and assess the situation and then go ahead with resource
utilization
(D) The man has to keep in mind only his basic needs while planning to harness the
potential of resourceful earth
44. Arrange Column II in proper sequence so as to match it with Column I and choose the
correct answer from the code given below :
Column I Column II
Activity Noise level
(a) Hearing (i) 30dB
(b) Whispering (i) 1dB
(c) Interference with sleep (iii) 60 dB
(d) Normal talk (iv) 30-50dB
Code :
@ © © @
@ O 6@ G v
® @ O () (i)
© v G G 6
O @ 6 G (v
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41.

42.

43.

44.
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45. The maximum loss of forest lands in India is caused by :
(A) River valley projects (B) Industries
(C) Means of transportation (D) Agriculture

46. In which year the University Grants Commission was established ?
(A) 1948 (B) 1944
(C) 1953 (D) 1960

47. Another name of Basic Education or Nai Talim is :
(A) Compulsory Education (B) New Education Policy
(C) Wardha Education Plan (D) Sarva Shikshya Abhiyan

48. The Idea of ‘Democratic Decentralisation” in India was popularised by :
(A) A.D. Gorwala Committee, 1951 (B) Paul H. Appleby Committee, 1953
(C) B.R. Mehta Committee, 1957 (D) Ashok Mehta Committee, 1978

49. In India, a political party is recognised as a National or Regional Party by the :
(A) President of India

(B)  Election Commission of India

(C

(D

) Law ministry in consultation with the Law Commission of India
)

Union Parliament in consultation with the State Legislatures

50. Which of the following factors is/are responsible for the increase of the role of
Government in Developing Countries ?

(a) Economic Planning (b) Rising expectation of People
(c) Privatisation (d) Emergence of the concept of Welfare State

Select the most appropriate answer from the code given below :

Code :
(A) (a) and (d) (B) (a), (b) and (d)
(C) Only (c) (D) Only (d)
-00o0-
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45.

46.

47.

48.

49.

50.

IR o 4y 1 Faifie g gen R
(A) &I = AR g (B) NI g
(C) uRe= & WAl g (D) wHfug@

favafaanera STHEM ST &t Toma fohd o8 ® @t 718 off ?

(A) 1948 H (B) 1944 H

(C) 1953 # (D) 1960 ®

it fren a1 =€ qe™ 1 qHU AW R

(A)  AfTard foan (B) s foram ifa

(C) = ferem s (D) §d T sAfim

ARA H AlhdiiTeh faohsIehi 1 fouR cTehUa a=m@ 7
(A) T €. TIREren |fafd, 1951 g/ (B) didl WH. Uqarsll |iHfd, 1953 §RI
(C) . AR Wean |wiufd, 1957 g/ (D) 3Teien Hedl 9fHfd, 1978 g1

IRa # el ToTifae 1 1 T A1 859 1 & ®9 | Al o § ¢
(A) HRd kT TeUfd

(B) R4 sl fHat=r smm

(C) ¥Ra & fafyr s o wwel 9 fafy w@smera gr

(D) T4 fa9™ qued & WY § W 9698 g

~"

forsraeiicr <ol & TR T et g2 ffeet o fore fre # 9 w9 S/ HRo7 IR 2

(a) oTfelep T (b) TN kI SIEdl gS SAHIETT
(c) TSRz (d) TAHBHTATDRT STALURON I I
%2
(A) (a) ¥R (d) (B) (a), (b) 3 (d)
(C) e (c) (D) e (d)
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